 Faafefe 3 e v needt R

(A)  uhe ‘ ; ' | ‘(3‘)"“"*??1??_,
() T A by

(F) iy
3 o PR s R

(A g B)
© T ) o

(B)  wquRaew

‘i

Frfrir e ovgpee A R
(A wrwar wE ¥ wrer N Qar ) (B) et o frem
(O W drmm (D) duragt A

(B) iy

4 Select the reptilian member found in Rajasthan

(AY  Buzzand (B) Indian Porcupine
(€) Indian Chameleons (D) ~Wild boar

(E)  Question not attempted

TSR W T S A1) wgw v Wt e SRy ‘ &
(A s (B). v A 3R )
A0y vt fnfire (¢ A (D) SiTelt YO (ATETE W)
(B) rgaiaww

Which of the following will undergo faster bio-degradation?

(A) Mango wood (B) Mango seed

{C) Mango peel (D) Mango pulp
(E) Question not attempted -

FrerferfRrer 3w ovfires Ash @ Sra-srweres Rt grar &2

(A) T T (B) AT ,
©) o R AD) IFHT | . :
(B)  Srqefta wx Rt
6 ‘IThe scientist who classified the blood into different blood groups is- o ;
(A EdmundKing (B) ' Richard Lower i k!
(C) - Jean-Baptiste : (D) Karl Landsteiner ‘
(E) . Question not nncmptcd i e 3
| ﬁmﬁmf&mﬁmﬁﬁmwﬁnmﬁﬁmmm ms e gkl e
(A wewsefdn . | ﬁaﬁtxﬁm S e R V.,‘,,;-.‘;‘:,‘
':(C.) RLR aﬁzsé donale ae g,{(n) LI S




7 Persomwith __ blood group can accept blood from all, whike fievson oo L mmb o ,
donate bicod to all. 1 it ST VR 09 g
A OB 5 R | ISR ety @) O 1 AB  respestivelyi T
(C) O- : AB+ regi'fcmeh @) AR+ §  O- respectively Bl
(E} Question not attempted N 0N

s%ranmma'@ SE TR W t&mﬁm‘mﬁmﬁ%m? &

; )
B o 0*::; (B) = 0+ : AB+ :t
B H) 0 AB + i (D) T[MW:AB+ : O- ' M
(E) Safawx 0
. 8 In which category of Pradhan Mantri MUDRA Yojana of FY 2023-24 maximum accounts are there in
Rajasthan? < o ‘
(A) Vyask x By, Rishoct | 2
(C) Shishu i D Tarm | 5
- (E)  Question not attempted (¢ i
: T AT G e e 2023-24 F U A waitie e A S Enw W0
:" Sh) : T M .(B) g«;ﬁ
3 © Fry v (D) = M
(E) qufayn Sk
| 9 Whichof the following is an imBbriant ‘ISABGOL" producing area of Rajasthan? <
(A) Kota b (B) Barmer .
i (C) Jodhpur 0 (D) Jaipur N
7 Question not attempted O e
mﬁémmﬁqmwm T INEE S iﬁ
(e oz ®) ¥R &
(O Sy 'r"* D) R ™
(B) =pafaws et
Which City of Rajasthan is kndWh as “City of Garments™? g
(A) Kota N (B) Bhilwara N
(C) Bikaner W © (D) Jaipur g\?
(E) - Question not attempted 3 B '*3
I 1 T T e e (R o o) e e \Q
(A) FI m (B) ierarsy }““5
- AQ) - R v D) SR | )
(E) saf@ad ; o ‘ “
s I m*wﬁmﬁmﬁammmmfmp ‘ :
(A) g 1 : SLEH(B) L HEREE ; i i
- AC)  faor : cﬂ?«j s (D) o j gt «;34
(E) wgvﬂﬂw i m GO R B N
(o) f%a’rwr i S r’i ;»i . ‘,‘—‘ (D) Pk =
Q)L 3
Fi “ T.()




W ﬁwf%ﬁmﬁ*wmmﬁ?m%?

: (&) ¥R (B Rt
s € s (D) s&m .
' (B) vmfta war - 5. i
14 Tors, block mountains, rift Valleys, bare rocky structures are physmgmphn. features at‘whnl; c)f the f‘allmwng'
‘ regions of [ndia?
(A) Northem plains of India (B)  The Indian desert
(C) The Island groups in India (D) The Peninsular Plateau ut‘ India

uestion not attempted
gwﬁgﬁﬁawm%mm&w%ﬁm%ﬁmﬁ&mmnﬂﬁmﬁﬁmﬁ?
JA) TR 3 Il e (B) Wt wErae
© v iy we £D) T il g
(B) Irqmi@ws :

Who among the following is not appointed by the Governer of Rajasthan?
Choose the most appropriate option from below:
(A)  Chief Justice of High Court.

(B) State Election Commissioner *
(C) .Chairman of the State Public Service Commission
(D) Vice Chancellor of State Universities

(E): Questionnot attempted

&ﬁ%m%mmﬁwwmmh :
Freifafias & & e 3wgen frere g

(A) =T maTer 3 e =
B) T~y FataT s A
(C) T~ v Qe 1w 3% aremey

AD) n—qﬁr’aﬁmm%gmwﬁr
(E) Srgafawy
Under Article 323 of the Constitution of India,

annual report as to the work done by the com

the State Public Service Commlsqmn has a duty to present af

mission, to whom?
(A) President (B)  Chief Minister
(C) Governor (D) Vidhan-Snbha
(E) Questxon not attempted
Rd nﬁmqﬁ:wﬁhm Fagd, mmwmmmtﬁmmmmmmm ‘Mﬁ
4 fortt wftrda e w07
(A) Tufd ‘ (B)
AC) TSI9rE (D)
(E) sryaf@yy
Which Article of Constitution of India, deals wnh the duties of the Chief Minister of State?
~(A)  Aricle 165 (B)  Article 162
(C) Article 167

(D)  Article 164 0 e
(E) Question not attempted el , o
wmqﬁnnwﬁqmmm%gm%mmmmm AL et
(A) AT=E 165 S b AR g e e i
(C) arfém? B - m) mmm e




i  The value of [logyg (Slogyg 100))? fs:
 lomyo (Slogyy 100)]? 5 it e

‘ :
S | | aiie)
AT LR

&+ | () T{%

(B)  Question not autempted / 3r{aa s

SR e | |

19 Ifsin23°= W then see 23° - 8l 67° §s equal to ¢

AR 230 = % W see 23° - sin 67° auEt R

N -

b bZ _02 > (“) p‘r:;{
& 7(,2 i
© 3T {5 BN /I

(E)  Question not attempted / 3ralte g& ,
5 20 A solid metallic cyclindet whose radius and heighit are equal (0 ench ollier is to be melted and 162 identical
solid balls are to be recasted from the Hquid metal, so furmed. Whal 18 the ratlo of the radius of & bl 4o thie
radius of cylinder?

e 3t e e, Rt Froa et Srend s el A6 aver &, o) FSHEAr st Suef trcet Wi ) 162 107 147 713
Aare e #1 i o Froar gt Rrcte o) et st svgerer sl B
(A) 1:8 (D) 1rd
(€ 1:5 (D) 1:i6
& (E)  Question not atterpted / SR S04

The shadow of the pole becomes 80 1 longer whett the altitude of the sun ehanges from 45% 1o 30°, Then the

height of the pole is: ‘

srer g o1 I (GEIRYE) 45° & 30° sraerat & et @t o) it Ko the o Hh B B, ey Ik B
(A so(VB+1)mof) ' (D) A(J}JJ: - lgm(:n,)

©) 30(v3+1)mef) ()  A0(VI+1)mth)

(E) Question not attempted / stqafa e

The value of 1028/16 #+25% 0f 512~ % of 75 Is i+
028 TG + 512 71 2506 — 758 W1 3 1 10 &5
(A) 5900 ‘ ‘ ;
(C) 4910
" (B) Question not attempted / ST e
The area of the trinngle formed by the lines 2x -
(A) 5squnits
: (C) 3 sq units
(E) _ Question not attempted it : et
‘m&ﬁ’h*y‘-d,xf}wl~Ot_ldx¢31&Tﬁﬁf}fdﬁﬁ?ﬁmﬂﬁWﬁi Y
(a) st e e 2
oy st e () gt pand

(@), v

(1) 4,700
D) 4,180

pyomd,x =yt b=0and rnxisls:
(1) 2w units
(D) 45 units

>




Choose e m‘&' x;sm‘@%m pTron 10 R in the Dlanky

3 2 By tomamow a&m‘\&\amm"&t caroying wredicines R war victims Bk «—@m‘mﬂ\t\w Uk,mm
ot s B wilime ?ﬁ
| @©  wlbetking U (D) will have taken w-
® mmmmﬁwmﬁ N
e -
25 Thoose the most @W passive form of the given sentemce: {‘fg _
Poople most not leaverbicyeles in the hall. 3 B
{A)  The hall must not have any bicyeles of paople.
{B) Nobdody ﬁa\m’&g}m\% brovekes in the hall, =i
) Bicycles must g be ket in the hall, 8]
AD) - The bicyeles aRifotto be et in the hall by the pecple. :;,34
B} Qusstionnot az:iin;\*ed , 0
26 Choose the most Wm option to fill in the blanks: ;%i
It weas mpd\ moming but they still hired boat and wen tor i i
zlong coast 3
(A) 2z22athe 3u < {B) axa the _p
{C) the,axa ﬁ”‘ (D) the, x, X, the 0N
{E) Question not s{tqnpred ﬁ\l)
!
27  Which of the fullmxmivkbmttut key of PowerPoint that helps to present the slides ﬁgn the bewmuu,?
Freafirfan & & S i %#mﬁ(&yﬁa}m%mmmftmﬁﬁ&
(A) F4 (B) Fi1
© F7 T «(D) F5 <
(E) Qmsuonnotaz?unpzed/ma&aw O E
28 Match List-I with L:st’n ;q , B
T -1 gsftn &aﬂﬁmﬁf&q 0 ;
~« List-I (Deéfmﬂl value) List-II (Binary value) ﬂ
g mm -ll(&mm ol
a 4 ' L 1000 3
thooles , L 1001 i i
LeiU 9 T 1. o101 R i
R f%;f . IV. 0100 g
Choose the correct ansyer from the nptxons gwcn bclow ¥ m et 2 , 7
19 R faeredt ﬁﬂfmmgﬁq T o .
(A) a H b IH G:;IV d-1. u(B) a- IV b H b Iﬂ d-m,v : et 3 ‘
(©) o IVb IH,C»ng I "(‘p)“ja‘.lll‘b ch IId H :

(B) Questxon not artempted / Cﬂgﬁﬁﬁ w

st 1 €




“USB" stands for _____?______ : , : |
A)  Uniform Series Bus (B)  Universal Serial Bus
(A)

(C) Universal Series Bus . (D) Universal Sequential Ultm
X (E) Question not attempted
g mpie |

(A) FhemEfeT (B)  qfader difvrer ay

(©) e wffet arw (D) R e ay

30  Anobject is placed at 30cm in front of a concave mirror of radius of curvature 5cm, The imége fortied will

be :-
(A) of same size that of object, real and inverted. (B) magnified, real and inverted
(C) diminished, real and inverted (D) magnified, virtual and erect

(E) Question not attempted

e e Y 15 Al sk Fea ATy arerer adur & wre 30 Auft gt e war Stwnd ab ey ater ufifiis g

(A) T TR, IrEf 3R Ieer (B) sahfa e, @l s sen
(C) e, arcafasw it seer " () smafifa e, st sit i
(E) Sguiawd '

31  India’s first solar observatory has begun its journey to'the destination of Sun-Earth L1 point on-

(A) December 01, 2023 (B) . Jahuary 25, 2024

; {C) September 02, 2023 (D) November 07, 2023

$ (E) Question not attempted

i WA o wgeht Wi v Y g - godt Fafeer fifg L1 o am e sty o off

& (A FREwol,2023 (B) Fatt 25, 2024

3 (©) fdato2, 2023 \(D) 07,2023
(B) Iruiays :

Wh:ch one is the operational heavy lift launch vehicle of ISRO used to launch the Chandrayaan-3 mission?
<zar-3 firyr Y o (vavn) e & RIC Fad (ISRO) it wgmamer Reft fere erfer arest b 4

(A) GSLV . : (B) LVM3-M4

(C) GSLV MK2 - _(D) GSLVMK3

(E) ~ Question not attempted / :ﬂfﬁﬁ'ﬂ Yy

thch of the following translators converts high level language into low level language at mme?

(A) Controler ' ~ (B)  Assembler

(C) Compiler - R i (D) lntcrprcter '
(E)  Question not attempted ; e :
'ﬁnmﬁ%mmmmmﬁumu&wﬂanﬁ?ﬁﬁmnwﬁqﬂaﬁfﬁm%mﬁ 'f’
o (A) ERE Lt ) e T
- © m e ‘,(D) g
qA : LT Fa :

i d




. (Cj  Hyper Text Technical Protocol (D) Hyper ”!exmmmwe& m«m%
{Ej Qxﬁwmmxmzmd ey :

BT

(B} Ty : .:,,\;,

»

36

o ol mj%ﬁw’ifﬁw% )

L mmmﬁm

ml’smﬁdﬁw e o :
(A} Hyper Text Transfer Protacol ot o) !cﬁghf:f E‘im Tmmtkt Protmoi

™

mwmh# ,m'gi‘m% WMWQ: Sk i y LAk
Ay WWWWH ‘ SSLB WMWM e

(K Ww

Where whs Asw 5 largest mw aviation event, “Wings India 2024° Iwhi”
(Aj Hyggmﬁm ' : (B} Keochi
(€ Lwﬁmw (D) Mumbei ¥
(Ej ptsgsmm:mmrmi 08 B
vﬁmwmwmmm e T 2024" me}r'ﬁ‘mrmm 3
(A WW (@) wR R
{L-‘; )

Wf’f“ﬁ (D) #Fag -
N 7 AV T A TR i
(A} AT AAT 4
© & m; T T A
(Ej agﬂfmw TN Y

i#. &
| M . =

ﬁmwﬁm # & Ao 2 A r

A
AN b6 (B} acd

(Cy b4 N e i
2B ﬁf”t , By e.de ?

i %gmﬁrm?ﬁmm?%mt



‘ Pormnmkottm. Sannam age sxte. is lmﬂe& in which smw‘* :
B) kamumm

(A) T amil Nmm L T :
©) - Kerala (D) Arunachal Pradesh M
(B)  Question not ﬁttemptw.l‘3 _ ‘ B Pty

Qi E e, mwamm | Rl

) e e ® ww
© ¥& ;:;‘; (D) TEIHEA I
(B)  HgERa N % | |
Wha is the first Asian plnycr to be nominated for International Tennis Hall of Fame?

(B) Yuki Bhambri

CSony i1siendsd.

o (A) Mahesh Bhupati »4
¢ AR (C) Rohan Bopanna {3 (D) Leander Paes
~ (B) Questionnot attemptdd §

el Nﬁﬁ@q%ﬁvmmwmm

L (A wuER 4 (B) e vt
- (©) AT M () fadwdw

(E) :ﬂgﬂﬁﬂw v

~Which Indian received the ‘Grecn Oscar’, Whitly Gold Award 2024?
< (B)  Amrita Devi

ﬁ““ ‘ (D) Purnima Devi Barman

L &

(A) Tulsi Gowda
(C) Alice Garg
" (E) Question not attemptedy

frm yyredta = A AT, am'efrvﬁ-sgrmtzommgm

(A) W*ﬁﬁ o, @) gt
~(O) Afere mi 4 (@) Rt
() af@wd

rd: REGULATION

43 - Choose the hlost appropriute&lindi word for the given wo
I 4 (B) HfnrEe

(A) w2t ®
(©) FEETE % (N ‘ @ fafrwE
(E) Qucstion not uucmptq‘g Ay TRER T b R

13165224 13165224 131

44 Ccmplctc the sentence given by choosing the most appropriate word:

A person who admxres/lovcg,bimsclf/hcmlftoo much is a-
: . (B)Y Nareissist

S {A) Numxsmaust = ; e
2 ‘(;C:’) Narmsus T o P ‘(D_) Novice
= (L) Qucstwn not nuemméﬂ?‘ B

o

R C}W 1hc word opposite nmcamng m» o
- SUscEpTIBLE” o MY
i (A) lmprcdxcmb!c i‘f‘}'f

’(C) “immune o w},;;;, :
(E) Questmn not utwmptqd% s o

: e (B) mcr«:dible
(D) prednctablw

~ lrTo,




46 Woﬂd’s first cloned buﬂ‘a!o was bom in \x*m\,h tountry’?

(A) Russ:a - (B) India

(C) China | D) USA

{E) = Question not mtempted

ﬁwﬁuﬁa@z%mwm%ﬁww

A) ¥ : B) W&

© 99 oo ety @ IWY
(€) START N '
47  When is the National Sports day celebrated in India?

(A) 29 August (B) 21 August

€©) 23 August (D) 23 August

(E) Question not attempted

WIE ° U O Raw ww s S R

(A) 293" (B) 213

(C©) .23 (D) 2537 F

(B) SERawy

48  Who among the following is the author of the book titled “Why Bharat Matters™

(A) Amit Shah {8) < Rajnath Singh

(C) S.Jaishankar (D)  Nirmala Sitharaman
(E) Question not attempted

Fefcfer it mya i e T T oae 8

A) Smar ®B) U=y e

. (C) TE.SgTE ) Hardaem
(E) Siuiaws
49  Choose the most appropriate English translation of the given sentence

g S fhas e i

4A)} Hashe been insulted? {B) Who hss insultad him?
{C) What has he been insulted by? (D) Heis insulted by whom?

(E} Question not attempted

50 {}aocsc&xemustappropnm reported form of the given sentence:
“Do you realize that the shoes you are wearing aren’t 2 pair?”, T asked.
. AA) Iasked him if he realized that the shoes he was wearing weren't 2 pair.
~ {B) Iasked that was he awzre that his shoes aren’t & pair? .
{C) [Itold him that his shoes aren’ta pair.
{D) Iasked him if he realize that his shoes were not 2 pair.
{E) Q‘mnotam:pwd

51 waseﬁxtmama;mpnmcmmm ﬁllmﬁxcb&mk

“Isdad in7" s LR : AT
“No, be isn” s.Hc : hamcmmagu.ﬂc ooyt

{A) W}lhavc.hzsno!mumad 4 i @; m\@mm S
(C) Lefibasnotremrmed - m‘; ;_,wﬁ_mgm U

{E} Qummm!mmpacd My e




‘Data are transferred between different components of n computer system using physieal W;,gg ealled

52
(A) WAN () cry
(C) Flowchaktyt (D) Bus ¥
(E)  Questior ot attempted % :
T R ﬁzwérfaﬁmﬂm‘r?rmzrsﬁf’namwwmrr:rrhmmfy{fmmfwmm;
PR @y g s 1
(©) e OB v
g tr‘}
(E) aﬁﬂftﬁ‘g% , ¢
53 In Microsoft ward, which of the following provides information about the curgent document?
(A)  View bultdns (B) Standard Toolbal
(C) Tab sto;p’ (D) Status bar 5
(E) Qllethl“{l()t attempted tl'}
g ¢ i fyEfafaa ﬁﬁmmmﬁaﬁaﬁﬁaﬂmﬁmmﬁ? f
A Faza™ ®) wedgem o M
© mmwm" . (D) ®ewAR it
| (B) g wy |
; L5 <
- 54 Whichof the follfwmg is NOT a function of MS Excel? £
t (A)  Subtract{)] _ (B)  Count () 8
© MINO “'l | - (D) MAX () ‘ég
(E) Qucsnowt attempted o
e o i e e e 8 v
) wmm g B) () £
(C) THIEE () ' (D) THUEH()
55 1 ZB (Zetbyté) s equal to: ‘ ' (:’J
1 ZB (Zettabyt J;émm& : % it ; §g§
AA) 1024 GRg - ‘ (B) 1024EB Se V-1
(©C) 1024z @) 1024KkB Bt
¢ (E) Qucatxoxmm nttcmp!cd/ aﬁﬁﬁ'ﬂ uq : ‘ i’ iif
? ‘56 A cube is colored green on all faces. It is cut into 64 smaller cubcs of cqual size. How mzmy cubes are there
© which have onll one face coloured out?
mwmg)ﬁ@?mﬁmﬂrmﬁmmt3ﬂ(wxﬁmm&:m@§{zﬁiqﬁm@bammgl
%ﬁmﬁm(wgﬁﬁﬁmﬁmmﬂbmm Ry B ,
Ay 26 % o G S0 () 30} jpahn ii:f
€y 22, v ; 250 AD) - 2 T o
(E) Qucatnm{‘ﬁpt altemptcd/tfﬂﬂﬁ“”“ ’ S ff?




oLy Asm;mwm?mmMwﬁfﬁmmwamummm@mmmﬂw

; 3 : .
(© s mnpsT ’ o) - Munps

. QQ7%3¥§¥WM’%%W%¥%?%%~WWW€M$%

(A} ,ma'ﬁfuzzn (5) ?msi‘a’?v
AC) 7m5% = E -y TEEnEEE
(E) ZFFaATS

83 W ImETHETSZY
(A) ZTA+FW | . (B) T4
(Cy T=H:+7H }Ij) H+ T
(Ey ZPA%T
Ins the first stage of formation of present state of Pajzsthan mwm«ammm mﬁz
leadership of
(A)y Shri Mange Pam (B) Shri Shobhz Rzm
(Cy Shri Alwar Singh (Dy  Shri Peeru Singh

(E} Question not zttempted
FAUE TEEAE T £ A 2 B4R 9 A e ga A noses EEr mm Enza s e

(Ay HsFam By FTrmas
(C) Hzmmfaz (Dy Fid=iEz
(E) FAASE ]
60 was first called *Maru’ then “Maruvara” mmmmmbemibd Marmas'
Cboosc!benms:appropnatcopuon from belovr:
(A) Dholpur (B) Jzipur
(C) Jodhpur (D) Bharatpur

(E)  Question not attempted
faa A smEmIEm 41, hm#wumwmm,

ﬁqnamzwgaaﬁrmgm

(A) ' ®) E
SC) IR ‘ ; (D) wagE
(B) FIHfmEa . ‘ , '

61

Choose the word mxmlar in meaning to thc tmdt:dxmd mx:h

Iti Is exasperating to kstcn to the suggcstxon:s of my nt:ghbmr about i mzmu al E{ k,_ *
nothing. ‘ aﬁ'm “M

(A) frustrating
(€)  amusing o
(E) * Question not attcmptcd

Q13 €




62 Choose the word similar in meamng to- T ENACIOUS

© (A) malign : ~ (B) timid
{C)  modest (D) resolute
(E)  Question not attempted

63 Which of the following is NOT an input dwncc of compu(er‘?

(A) Monitor - e g (B) Trackball
(C) Image scanner ‘ (D) Joystick
(E) Question not attempted

Frerfafaa & & =7 a1 wege &1 v e feargy e 2

) il (B) dret
(C) T (D) Sirafie®
(E) rgufd wx

Choose the most appropriate word to complete the given sentence:
The City Centre Mall was crowded tourists.
(A) with .(B) by

(C) of (D) from
(E) Question not attempted

i < 65 . Choose the most appropriate word to complete the given sentence:
;¢ A teetotaller is one who abstains’ " alcohol.

E_, (A) on "~ (B) in

o (C) with .(D) from
(E) Question not attempted

Choose the most appropriate options to fill in the blanks:
my friends are busy tonight. of them are writing an exam the next day, but
of them were still ready to party and so far of them have confirmed.
(A) All, most, some, none (B) Some, some, some, all
AC) * most, none, all, some (D) none, most, all, none
(E)  Question not attempted

Q9

Choose the most appropriate option to complete the sentence:
The language of a circular is:
AA)  round about (B) .vague
(C) emotional ‘ (D) objective
" {E) Question not attempted

The body workmg at the highest level of Rajasthan admmlslratwn system s :
Choose the most appropriate option from below:

(A) Chief Minister’s office ( B) Ministers

(C)  Government Secretarjat it et ()] Guvcma;'s office

(E)  Question not am:mptcd :
USIEATT e ot (e %Wm gz rmimﬁmm g

Freafofiaa o & aai fergea
R b ng e
(© wlafEem : .(D) nwwmmqu

() wafewg

ShalaR e e LT



69 Who was the Chief Secretary of Rajasthan as 0n >
<3A)  Sudbansh Pant ~

(D) Subhash
Q) Jagdish Meena 5 .
C4(E)  Question not attempted : oy
Wﬂ%g@mgosm?mdm@?%” s 3%%;
O S F e ERT P
(& Wg (D) |9 o
~i(E) mﬁaw : o ped
i ¥4
Who among the following was the first Chxef Secretary of Rajz-;s!hzm L
() Shri V. Narayan
MA} Shri Rajesh Bhushan g 1 3
O(C)  Shri Apurva Chandra (D) o~
LWE)  Question not attempted 10
Wa%m%mn@aﬁaﬂ:m WY
Ty Aw ®) A
::(C) 5 3 TE 931 (D) . TIFEH
() EEws =i
71 __When was ‘Direct Action Day’ celebrated by Muslim League?
‘-ﬁ
f\‘m 20 August, 1947 (B) 15 Augssf, 1945
~f0) 16 August, 1946 (D) 16 Augdst| 1947
'&f‘;fﬁ\ Question not attempted ' N

™A) 203Rq, 1947
M(Q 16 3, 1946
(E) SEfawx

\O
(B) 1531945
®) 16 3ITFRTI947
‘72 Chuliya waterfall is located in which of the following regions of Rajasthan?
*#*Choose the most appropriate option from below:
_N(A) Western desert plain region
N(C) Aravali region

(B) Eaﬂﬂ% region

|
b
¢

(D) South plateau region

Question not attempted e
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What percentage of the total land mass area of India is in Rajasthan®:
NC!;
\jChoose the most appropriate option from below:
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~ invested af 5%?

The life history of the saints which is available in poeif}‘ lormoan R l:mgua,_, e ?if

ﬁ&

= St |
{A) DaWavait ; (B) gu
J © \}?ﬁlt : ’ (D Vaaxmm
(E) (j \tmn not attempted
ﬁﬁmﬁ‘l‘qﬁmaﬁmnnﬁwﬁmmﬁm% ﬁagg%
(A) IERE B) TEL
© & (D) FE
(E) sgﬂam =
@ @) ®) 7 ?_i
© =L ®
(B) i o
(M B,
Prefafge «omT T vaiaar 18 H- qra? m’ ;
(A) 3 |) &N | :
o g D) ?ﬁ’@
ﬁmf%—rﬁg@fr v T faelT e ® N 0
(a) TFRER ®
® geRawd wd

Aman takes 5 days more than Bhanu to do a certain job ands»? days more than Pankaj. Aman and Bh:
together‘ﬂn do the job in the same time as Pankaj. How many. £ days Aman alone would take to do it?
o FAHNAE 5 R ST A9 ﬁammaﬁ: maﬂtmgfﬁmmﬂéﬁﬁaﬁnq
& e FHF A 8 Wmaﬁwmﬁﬁmmmﬁﬁwﬂmw | ‘
(A) 250 ® 5 ¥

© 13 ® 20

(E) Q(ygsnon not attempted / FFATT T ot

Ajay invested a total sum of T 7, 100 in three different schemes of simple interest at 3%, *" and Tt

annum. A the end of one year, he got same interest in all thrée schemes. What is the amcunt ot mo
SN :

a3y 3%, S%sﬁtmwﬁfaéﬁaﬁtmmmﬁtﬁq ‘ ,’mmﬁﬁmz?xmaﬁﬁhﬁ

@aﬁ%@aﬁaﬁmmﬁmmﬁmw%mﬁﬁnﬁﬁmﬁtw%’ e

(A) TL500 . ® T zmo Cod

(C) 7 T B S S oy e e
Qﬁ‘ésuonnotattemptediaﬂﬁﬁ’cmﬂ b B R
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ety g i - “ife s geod' 111 6 wi “enjoy Bide' 1 A 1)’ ‘««fw%{ shiould be yaid* ﬂ s, ,;e,: by s’ 5

ey o iy oty 2 vy a0 iy 3 fony wtf by B vy
’[‘f@} B ;!3 7 . / UH ] M"
)y Y )y ow ‘ a;g;;,
@ ;;mfgéa eyl axttws e / ﬁfﬁ'«“ wi yd

Y :
? o881 f sl B4 sre sptiing i # stradyht hne sil facing siorth duéuérm bt 1t flenss w}my i ;},? wihie .
andder. Thwsy ;% atily e pesson siting hetween K and .1 sits hetween ¥ and 8. Fhiere a1 only twi gt '
brtweets T # M ¥, sits ot he ipmnediote Jett of P and ¥ sits 0 the smiddfé of the sow. Which of the wliwmg, 2
5’%4 ] p’f &z B¢ siting o the exhrems wnds? 0y %
V03,3 5, ok A vy vy g Sz ) S s s i) oy 4 B ﬁ@m et b e a8y,
BE VAL ﬁ; ooy vt ol o B o an 1) B 81y o WAk st e A ot B B p s
Bt g B d i pogs st 3 B By Sarslotfin 1 i of)a B 21 4P faen fapayih w8 B2 ’

i

A) 1,;:53‘,, ) 10 v
) 8,71 ; 4) M )
(5 Cuesfion not attempied | B4R 34 4

Sanne buys sre stunding iy 2 guevs facing North, Kl is 14 from the left end while favi is 20 ﬁ‘fm. the
right end sn8Buyi 15 9 1 the sight of Lshaan, 1S Kamal stands second 49 the left of gshaun, then find out the

wud mufbfff B bys in the row! ¢ ¥
s 8 S £y o v S, w1 138 By et IR IR ;wfm st 1 mifed g i 204 e ofie.

%xinﬁ Copicikasd g v mz?mfa oA, Sorr 3 i) men Ay g g e o rgat A ge
hy o tH ‘ @) 0 :;)“
o2 ) o i

18y Caestion not attempied / A1 4%

Ihere ts servit relationship between the pair on the Jeft side of 22 Bet uF the satne relationship on the right
side of - thandind out which option would replace the 7’ o

: mmmrmi PCRIYORG o COMPUTER 2 7 : ,
sy B e 7w A A A B ., i ey s v o) ebebo aggel sk v ey o B g o e £

wﬂxm%mmmh ‘ W
LANGUACE, PORIYCKG s COMPUTER ; PTOLY Il £l
A) COONYSIT . oo (B GOMNYVIN
€y oorkIvie : A ﬁf%)lwvm*’!
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‘When I-l generation is crosw:d thh any one parcnt thcu it is called:«

(A) Dihybrid cross ‘ (B)  Testcross 1

. (C) Back cross 4 (D) Rccnproenl Cross

91

92

(E)  Question not attempted
w9 Fl Mmmﬁsﬁ@mﬁmmrmm?aﬁh‘m?

(A) et dwr ' (B) vl dawor

- (©)  wdlg T (D) S T

(B) rqaia v

Some metals sink in water, as:

(A) their mass is more than water. (B) their density is more than water.,
(C) their density is less than water (D) their surface area is less than water,
(E)  Question not attempted i
R aTgQ ERR] = Tt &, FIfE -

(A) STHIEAAH I A A Qe ? (B) 3T uTed St & firek war &
(C) ST U9cT T Q FH BlaT & (D) IeRT qUlT AT ST & W BT ¥
(E) STmiauy /
Brass is an alloy of :

(A) Iron and Nickel (B) Copper and Zinc

(C) Copperand Tin (D) Tinand Lead

(E) Question not attempted

diaer T&h e ‘TT@ % -

(A) ek fEe (B) iR 3 fRiwm Y

(€ wRRfad (D) fataesHh

(E) SaRayy

93 Which technique is suitable for the disposal of biomedical waste?
(A) Recycling (B) Disposal in water
(C) Incineration (D) Landfill
(E)  Question not attempted :
Jg-fuferear swgfine fgerm & S9gw ol o:-
(A) T - (B) wArdfiwem
(C) FATC ST Rt (D) defka
() qafawy ‘ 3 |
94  What is the ‘minimum time limit for workc.rs undtr MNREGA to get the wubcs ior thexr w ork?
(A) amonth : : B) a\vee : ' _
“{Q)-aformight . vl o : (D) threeweeks i
(E) Questionnotsttempted =~~~ E ISR ER L
, m%mwﬁﬁﬁ%%m%mmm@mmmmwm
RAGVIRL i o R T L A EEE
© meRE 0 i e T iy el
® agaﬂaw i R S T
Q“' € e b




Ry f\”zam the Iamw Solar Park of India wim_h i situated jn Rajasthan,

-~ Choase the most approptiate aption from below: W
Y ,Mm@\m S(\hr Park | (1) (‘l‘h:mmkg; olar Z’arlé
A ngf’h Solar Park () Bhadia z%m Park
AR QXK‘!}NY\ notattempred ) iq;
‘W%MWMWWWﬁﬁ»wwﬁ Romdy 4
PR ‘W{m fwegh fvf
A TR (13) vl G el
© mﬁmm& (D) g mgrgmﬁf‘
® ™
| a5 Inalkaline Q‘t'dxum‘ the equivalent weight of KMnQ, is - v
; 4 D
Do mmﬂg:mmo‘,mw#%m% ot
@ M5R00) ® Mz
{4 3
© -‘?—(3'“1*0) (D) ?(26‘.33)
(E)  Question not attempted / START T o
m m,cocac*;} 5+ H,0 —> CH,COOH + C,l1;0H ?:ﬁ

Inthe abovemacnon which of the compound is the “auto ¢ ualybt"‘f }

mﬁnﬁaﬁﬁw‘:ﬂwmm g I sﬁsﬁﬁf«'ﬂﬁm%)

A C&{%é:ﬂ (B) c113c00q2115
. {©) HOm (@) cHcoon
{E) Question not attempted / FTART T ‘
%8 Zn+CuSO; —> Zn SO +Cu %‘:jé«‘
- Which is betpg oxidised in the above reaction? : é:j
i mﬁxﬁﬁnﬁmmam@ 7 v
A msg.z » (B) zn O
i(:; Sty D) Cu ;;;
M“’%n not. uucmpled/ gt ‘ =5
M._ T e Moo
o mual'is ‘i'nibz: fm cubic crystal l'aui'u: Lattice constunt of unitcell is 2.88 A and density of metal is 7.20

e 3”9‘“‘! Whﬂl is the numbcr of unit cells for 100 gm metal? TR 4 v
W“‘Wﬁﬁﬁmm%mﬁmmmmmﬁmﬁﬂss A Mﬂrmgmmno g,m:ms

.,_':Vhtmm ﬁmﬁﬁwsﬁzﬁrmwﬂ? *ﬁ:f -
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AT amatwcﬁdmu scalidy ; : : SRR :
{A)  astigimatisa : e G ‘(m xix;u;sh\ of near s&i;gmmmem sy

o (o 38 h\wﬂmm\pm ot far \m!m\inw ; {DX preshiyvopia : =

; {}‘) Question 1ot attemprad
g w0 T I Se R W%mnﬂ‘tﬁmﬁ*mﬁmmmaﬁmkﬂm%ﬁwm&;

'Emé‘xmmm% :
Ay R B m‘ﬁﬁmmﬁm’g&m
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(E) mw

~ Read the passage and answer the questions that follow by choasing the correct option. (Q 101 to 105)

- Experts in climatology and other scientists are bocoming extremely concerned about the changes to our climate 4
which are taking place. Admittedly, climate changes have occurred on our planet before. For example, th(:re have -
been several ice ages or glacial periods. Rt .
These climatic changes, however, were difterent from the modern ones in that they occurred gradually and, as far
“as we know, naturally. The changes currently being monitored are said to be the result not of natural causes, but of -
human activity. Furthermore, the rate of change is becoming alarmingly rapid. : “

The major problem is that the planet appears to be warming up. According to some experts, this warming process,

known as global warming, is occurning at a rate unprecedented in the last 10,000 years. The implications for the -

planet are very senous. Rising global temperatures could give rise to such ecological disasters as extremely high -
increase in the incidence of flooding and of droughts. These in turn could have a harmful effect on agriculture.

¢ Itis thought that this unusual warming of the Earth has been caused by so-called greenhouse gases, such as carbon

dioxide, being emitted into the atmosphere by car engines and modern industrial processes, for example. Such gases

- not only 2dd to the pollution of the atmosphere, but also create a greenhouse effect, by which the heat of the sun is

- wapped. This leads to the warming up of the planet.

: ;*o!i:im are also concerned a2bout climate change and there are now regular summits on the subject, attended by
representatives from around 180 of the world’s industrialized countries. Of these summits, the most important one
took place in Kyoto in Japan in 1997. There it was agreed that the most industrialized countries would try to reduce
the volume of mcnhouac gas emissions and were given targets for this reduction of emissions. : ;
1t was also suggested that more forests should be planted to create so-called sinks to absorb greenhome mscs At ,

least parz of the problem of rapid climate change has been caused by too drastic deforestation, s
Sadly, the targets are not being met. Even more sadly, global warming about Lhmatc. uhamzes arc., often still bemg

mg&d;ed as s:ammanzuma

161 Idmufmhemuec' statements :
v Thc ice ages or glacml pcnods are exnmp!e:. of chmatc changes in the modem umca.
In the past, ci:mzﬂc changes occurred gmdunn) and naturally, - e i
- Rising global tempratures can cause more ﬂoodmg and droughts, St Ty
Greenhouse gases are given out by phmxs,, e Shti
g ‘The climate chzmgta wday are d:ssvmxlzxr to lhase of the past. L
'Cbﬁvose tbemosi ngqmc answet fmm xhe :)ptm;xs given below; 7 o il 3
4) cd and ¢ only. SRR ‘;"_" . (B) b,cand conly. Bl
; (©) ‘abandconty, © o irln R (D) b azmd d anxy.:’; Y
{E) Qﬂesuonnmaugmpwd Lk ;

Q}s; €

¢ 'pc o i.ﬁ'f#
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(A

The gmnhmme emct is caused when
The green coloured glass or mesh is used to cover the plams

The gru.n trees form a canopy in the forest

So®
Y The roof is covered with green plants to keep the building cool

(O
The gases like carbon-dioxide trap the heat of the sun in the air.

: o

104

105

(B Question not uttcmptcd

lﬁl i Whmh of the following were not suggested at the Kyoto summit?

Most industrialized countries would reduce emissions,

More forests should be cut to create the so called sinks.

The automobile industry should roll out clectric vehicles.

Targets were st to reduce the volume of greenhouse gas emissions.
c. the rate of industrialization should be contained.

Chéosc the most appropriate answer from the options given below:
(A) bycande only. (B) a,bandconly.
(€) b,candd only. (D) ¢, dandconly.

L
b,
o
d

(E) Question not attempted
The implications of an unprecedented rate of r are very serious.
(A) Kyoto summit ) Flooding & draughts
o (©) Global warming (D) Ecological disaster
. (E) Question not attempted
Match List-I with List-II '
List-I (Words) List-IT (Meaning)
a. Unprecedented : L Forests land, which absorbs carbon-dioxide
from the air
b. Implications . JI.  That which has never happened before
c. - Sinks . III.  The deliberate spreading of frightening rumours
cAod, Scare mongering IV. Something thatis suggested
i Choose the most appropriate answer from the options given below:
m(A)aIVbIIIcIIdI , @ a-Lb-Ic-ULd-IV
() a-1Lb-1V,c-Ld-1I () a-NLb-1V,c-ILd-1
(B Quesuon not attempted
and 2£SMO =25° What is the value of LOSM?

106

In the figure below, PQ

is parallel to RS, £ PQM = 80°

80° aﬁt ZSMO = 25°d1 zosmmmmgv

“-ﬁ%fmimwo, s%?wrmat% ZPQM =

(ﬂ) 50"

: ','T'(A) 65° E
3 {C): 60° Sl JD) 559 s e
(E) QueSttonnotatt.cmph:d /agaﬂ:amr el
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iﬁ‘ iw} given mtm\wf\!n i h:f true even if ths!y Heem lo ba At varinee i”mm mtnmonly knuwn rm Rcam
e Wlnd wainiis and thisn deeide whieh of the given wnglukas iagic;a[ly miinws frmg the gwcn smtcmmm

Statement 1 No aingdiis dieeor - - e
&csr\wdﬁ\‘r‘t‘!um i enchers S iR R gg@ e
~ Rowe b are studeinte T e e e g Aaid
%\‘\i\*lm\m\u!mm %ugm Are MUlente - in et S R A e e i
(1 Sone fiveotors are students ‘ d
(AY 1ot eonelsigig Land 1 lows _ () ()nly mmlus :mlfafi?‘iw
() Oaly cone usiandt follows ' () Neither conclusion I hor H fuﬂawx

() Question not attermpted ;
1fR PR ) ) (Y s, ot i v sty @ st e firsran srd‘mgdm. i Fopdt o1 o

- aUaf et et PRt fRer e Pl e e @ s et o e AT Ay

WAL S N i“\v\ i R ; m :
e TR anga ) e
A I A, A *;“!
fawend. (1) s e gsfﬁl ' ":_3
Ao Nluwem it

(A R AR B) ae fred rwd g

(©  dae fs pad R 1)) w‘rﬁmhammqu‘y%
() srqaia "‘33j W
108 What will come in p\;\; of the question mark (?) in the following series? “4
fasafdian Aol t‘lwmerﬁrami’mmmmnanwz 3
16, 23,98, 197, 890,00 7 0
(A 1281 v (B) 981 ;;;1
{© 1081 m (D) 1181 o

{£)  Question not aﬁ’mmﬂl / argaf W

kd - . 1 _ :
109 Find the simple interest on T 4,000 at 62 % per annum for the period from 4'" feb. 2009 to 18™ April 2009.

C(AY 0000 gt _ (B) T37.50 t‘s‘?
©) TR0 N \ . (D) ¥5000 N

(1) Question nat attempted ﬁg :
s 4mn4\m&mo{ﬁmomzﬁmﬂr#muomws mﬁuam[mm EF:

A Teoon v (B) ®37.50 f""}
g0y rasso o ) (D) 50,00 o
® srpafta v ?""" ‘ ' g

110 What is the minimum number of meetings of (lram Sablm m be hcld in Rn;as(hnn ina )w:af umier !ﬁr-'
- Panchaywi R«n Systeay? : ; : 3 -
- Chaose the most appopriate option trom below: s 4 ik

w.zmrz&Wmm#mwﬁ&mﬁmmmﬂtmwrﬁm@%mm#

fmﬁﬁmﬁmgm%mgﬁl i *T%:r
[N z Sl s S B e
ey SR "* Toheaan mye e o
(H Qucstmn not a‘wgnpmdf *ﬂmgm i i Bnl :
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3 - ;11 : In the 12th vae Year Plan of Rajasthan which sector has bcen glvcu maxlmum allocatmn?
- A) Soc:al and Commumty Scrvncc ‘ ’ (B) Industries
(C) Power : UL Dy
: (E) Quesuon not attempted :
- o Y 12 dererdta e o g Gy mmﬁmmm

: Agnculture and Ruml Development -

(A) mﬁmaﬁtmgmﬁmitar ‘ ' ®) IO '
oGy T L ) i e
(E) a:gaﬁasm ' | e
112 Who is the chairman of the committee set up to examine the issue of holding simultaneous elecuomz in India?_
(A)  Shree Laxmikant Bajpai (B)  Shree Ramnath Kovind
(C) Shree Vijaypal Singh Tomar (D) Shree Baburam Nishad

(E)  Question not attempted

NI & O ETY A 0 3 1 o it 3 Rere nfse wffar & sremw A 0

(A) el aree (B) f wwy sifdr
(© ot s Rigdm (D) it s frare
(B) EREww OE;
113 2023 Arjun awardee, Divyakriti Singh of Rajasthan, is associated with which one of the following?
(A) Equestrian show jumping (B) Equestrian dressage
(C) Equestrian cross country (D) Equestrian hunter trails

(E) Question not attempted

T <Y o1 Qe 2023 3 farsre, feeargpfer fiie, Frey 3 & fop & waifira &9

- (A) Euard ST ' (B) AR U
»(C), qEuary i F ‘ (D) TFEIR & I
agaﬂamx

114 How many types of genotypes are formed in F2 generation of monohybrid cross?
.mwaﬁ’fmﬁaﬁﬁﬁmm%mﬁﬁaﬁﬁz
N ® 9
Oy A L o (D) 13
; (E) Questxon not attemptcd | gt ot

. '. 115 : lthch coal comams the hxghcst amount of carbon?

e Amhmcuc ' ABY LIS

Q) ‘Peat et St (D) Bituminous
(E). . Question not auempzed £ ‘ V'
;‘ﬁﬂﬁﬂﬁﬁaﬁmwﬁmﬁwmh i

W) w _m) femme

(C) i e e T D) Tl

41(}3) éﬁﬁfﬁml i R

T it a3 5 A 11



2 116 Select thc pIants found in the subtmpical mountain forest in Ra_;asthan

(A) “Dhokra, Palash S Ry khqn_d iy
(€)  Ker, Thor, Foag o - (D) Mango, Neem
(E)  Question not at empted : : '
mnﬁm-zwﬁzéﬂumm&maﬁmqmﬂmrﬁﬁ&

(A) u‘rmvam o ®B) wEh,EC

() %ﬁt,zﬁt,mm | (D) m#m

117 Natural rubber is a‘;)gymer of :

(A) Isoprene (B) Buna-N <
- (C) caprolactam &= , (D) Neoprene {\i
(E) Question nofaftempted : {.\é
R A Ty
(A) mgEnfm U} (B) SEIGT(Buna-N) O
H(C) FeEw \D (D) Fed= 4
(E) SAERa@ud ¢ z

118 The organic compog} can be obtained from the living organisms only and cannot be synlhésized by artificid
methods in laboratory. This is called :
(A) Theory of Hydrocarbons (B) Freons Theory

(C) Wohler Them:y (D) Vital Force Theory (""4
(E) Question nog‘gttcmpted

mmﬁwmﬁéﬁm%mmm%wwm%ﬁﬁﬁmm%

24

g

T s wehe 1 TR & :

(A) zrs;’tmhfhéza ‘ B femfE 2

() Eﬁmﬁmam (D) <-vf fagia
- ® FIARA TS ey : : i
119 Match List-I with List-II N
List-l@orest Area) List-II (Place) N
i i Sarisking | g L Alwar ',3
b Damlfy . Kota e
c.  MountiAbu Frid, 0L Karauli , m
4

; 2 Kaﬂac‘&n " V. - S!mhx
%Eéﬁ -1 E’! mﬁ -H #ify ; _ ' N e
, i Qﬁ) o - w-ﬂ

s Fﬁﬁri ot ; LA
b aﬁf ¢ a%a
d. de SRl w

A5 ; Choow thc mnsta xpnale answcr from the optmn gwen bekm, ,
T (A) e Hb Jc&él\rd o 03) o “b mc ’drl?&’ G
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) uwm\mw wis toceived fom Harappans. ' ;
T Ganorhwar i an inportang lte nf‘vuppm‘ culture, g
(©)  ltwm dlmswwd at the souree of fiver Kantali at Neeni Ka nmnm ! WY :
Aoy m Gmwah\\ar amemmlnna undertaken by the t)epnﬂmcnt nf Arehuenlogy nmi Museums, Ra;nsthm"
o bronght to Night about 8 3000 (approx.) year old culture, ey FAs st i
C ) Question not attempted ;
© e o egend B et 3 s amuresr s i s et
(A) el weoar O e e staren
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(€) e, sl o et el st & e e weh
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(B)  oryuiv
126 Kalibangan {8 located in which place of Rajasthan?
(A)  Sri Ganganagar (B) Jaipur
(€}  Sikar (D) Hnnqma_ngnrh
(£)  Question not attempted :
wETElvaT TroreuT O fRr e e e @2
(A) Ay (B) IR
(€) (D) TR

(B)  drafarus

127 Afer the death of Rana Ratan Singh who became the ruler of Mewar?

R {A) Rana Amar Singh (B) Maharana Pratap _ o j SR
- {C)  Maharona Raj Singh e (D) Rana Vikramaditya .- : s
{E) - Question not atterupted P E To ' ) R s G
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'(CY)‘ Both Smlcm?mlund Statement 11 are false. (D)  Statemen

wnere ulu wﬁmen wear 1¢w;:llcry mmwd Muxln‘?
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"\(L . Question nbthtiepted : : co o8N
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»130 ; Aumﬂhm to wnaué 2011 which of the following distelets of Nnjnuﬂum hias thﬁ: liigheat mémw rme’l :
ENOE Jaipur (1) Bikaner o
_ 2 () Kota v P (D) Chury %}g
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2011 & SRR ﬂ%rffmt Frestfetfiarer it &t arsresra 3 faar fired it anmrcar 2t unﬁé:ﬁrm #
A g 8) By s 19 o
(( Eﬁm ‘“ (,J) 136 ’gfe‘ M i ey PR
i g FEROTE RS e R

Uwcn below are hﬁo stntemcntq uboul [ulcri(c noil

Statement 1t Lnteg(c soil Is found in Dungarpur, central and mmthcm partsof Udnipur uml in nnjammnd

regions. ; Ry (:aj
Statement 11z Tt Jagks red due to presence of iron, o
he most appropriate answer from thqéplkmq given below.

In light of the nb&% statements,choose t

(A) Smtcmcnti false but Statement 11 is true.  (1B) Both Statement I angl Statement 1 are true.

t1is trufz}m Statement § is false,

(E) Question notjattempted
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ah mmﬁ i Eﬁgm xlnm 4»: bum Hver which of the fmkmmg ﬁvert? :
5 Manas g S har R S () Na:mada
i {()  Bitharinati SR e (m c}mmm;_
h) Question nmaucmpwd ' e W
il et il Faterfiafian i Fiseg sty e st um%?
(A) Wt oy
) bl S - (py) wEA
(¥ R UL '

‘i_iiéi Fhie tivers originating from the Amarkantak range, flowing in all directions, is an mmpfc af vs{m:h Qf‘&‘
| - following type of drainage patterns? '
{A)  Tadinl (B) Trellis
() Centtipetal (D) Dendritic
{¥)  Question not attempted

ot ‘trhMﬂﬁrﬁwﬂﬁﬂmﬁﬁmﬁfﬁaﬁt%aﬁﬁqﬁﬁﬁn%ﬁmmaaﬁmwﬁw
mmmn

(A) il (B) Sefiga
©)  nfickh (D) ZHvFfE
() 3rgafr us
; 38 Which of the following mountain peaks is situated in India?
{A) Mt Kamet (B) Mt Everest
{C}‘ Mt Dhaulagiti (D) Mt Annapurx.xd
{I)  Question not attempted
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l y fE Kavim is mmhﬁ?hin»luw 0! Swma who is msw;-m luw of Aﬁhﬂk Aiay is l'mht:r of V’mod zmd nnly bmthcrof e
Ashiok, Sccmn is wife nl‘ A;uy How is Kavita related to Ashok? S

(t’i) Wife S i . () Mother :
(€)  Sister : =L » " (D) Mm}‘mr;induw
() - Question not attempted

e, alvw o & s swiv 6 s B on, f“atfrd 731 ffm sk mﬁm amﬁ mi # tﬁm Eeg) aﬁ’rwrvﬁ ?l
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138 1 North-Enst becomes West, South-East becomes North and so on. What will East become?
(A) South (B) North-West
() Stmth-l”mt ‘ : (D) North
(E)  Question not attempted
wf 3.l s o 8, afm-qﬁmmarm%aﬁtsvﬁmmmm%a}gwmm
(A) &l (B) I -9fim |
(¢) afiqor.qd (D) W

(t) sraftd v

139 A dealer otTers three successive discounts of 50%, 10%, 20%

on an article. What is the single effective

discount rate?

e et ot o] 9T EAAr 50%, 1 O%WZO%ﬁ?ﬁWQZ%m%IWWQZHW%?
(A) 12% (B) 60%

1)~ M% o (D) 69%
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140 Wimz i% thc cquzmon of the hyperbola, the length of whose latus rectum is 8 and eccentricity is 7'9
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. 142 Wmch of the followmg projects has brought a rcvolutmnarychangc inthe tnhal dommatcd areas af Ra J&ﬂhﬁn‘z

! Choose the most appropriate option from below: : : : &'{}1 e
(A) Mahi Bajaj Sagar Dam Pchct e (B) Bhakra Nangal mm l"rcrjecﬁ"*q i
©y Jawahar Sagar Dam ij‘i?% i (D) Veer Sagar Dam i’mject f;é e - ,
" (E) Question not attempted : o A bl
mnamma@%mmwnmmmmm Ut
e e S e A el
A nrg‘raa?:mamqﬁzhw (B) mmmnﬁm ig LylEe
: (C) FarearR A afEeEr (9 (D) mmmmﬁw :
- (B) wEfEwA i oy
S 143 . Which of the following is the first Super Thermal Power Plant of Rajasthan? ' {}4 v
s - Choose the most appropriate option from below: £ <
{A’) Mahi Bajaj Sagar Hydro, quwer Plant (B) ' Suratgarh Thermal Power ‘;lfﬁon
(C) Jawahar Sagar Hydroelectréc Power Station (D) Chhabra Thermal Power Pﬁ ‘
(E)  Question not attempted i3 : N m
71 3 8 FH-H1 TR T TG A 1T A 27 e
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(A) HTE 99T QP BIeg! Iat e (B) T gve 9T T2
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144 Find the incorrect statement abiwt:- The recommendations of the Ashok Mehta Compstwc on Pandmyw
) Raj are: iﬂ ¥ it

(A) Official participation of Ef)}mcal parties at all levels of Panchayati elections F’)
{B)  The three tier system of Panchayati Raj should be replaced by a two tier system. L
(C)  If the Panchayati Institutjogs are superseded, elections must be held within one year,

(D) Reservation of seats for SCs and STs on the basis of their population. =
(E) Question not attempted =3 Oy ;
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State Policy? e : "p
(A) USConstitstion .~ s (B) British Constirution - ,W :
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146 Who was the first woman chaxrpcrson of Rn_)asthnn B {uman Rxghts Cormmsswn?

() Shanta Kumari : e (B) Kamla Bemwm
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4 (c:) Kanta Bhatnagar : (D) Pratibha Patil
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